RESUMEN DE APE%CE
RELACIONES
VECTORIALES

C1. Ecuaciones de #igebra vectorial

Ecuacién No, Ecuacibn
(1.31) A-B=B.A
(1.32) A-B+C)=A-B+A-C
(1.55) AxB=-BxA
(1.56) Ax(B+C)=AxB+AxC
(1.58) AxA=0
(1.72) A.BxC=AxB.C
(1.76} A-B x C = [ABC]
(1.77) [ABC] - {BCA] - [CAB] = - [ACB] = - [BAC] - - [CBA}
(1.83) Ax(BxC)=(A-C)B-(A-B)C
(1.98) AxBxC=(A-C)B-{B.-C)A
(3.112) Ve + ¢) =V 1 V¥
(3113) | Vigy) = 4V + YV
(3.124) Ve = V() = ¢ () Vu
(3.128) V-§+g)=V-1+V-g
(3.131) div (grad ¢) = V - (V) = V¢
(3.140) Ux{f+e)-Vxf+Vxg
(3.142) ¥ x (Vp) = 0
(3.143) V- UxnN=0
(3.154) (ExV)-g=1-(Vxg)
(3.155) V(D =V [+ 1-(Vg)
(3.156) Vx(¢0=¢Vx[+(V¢)xi=qSfo—foqS
(3.157) V(fxg)=-8g-VxH-I-(Vxe)
(3.158) Ux{{xg)=0V-8)-g(V-D+ @& VNI-{-V)&
(3.159) V-8 - Ix(Txg)+exVxD+{-V)g+ &V
(3.163) ot (rotf):Vx(fo)zv(VJ)-V’[
(3.164) Vi=-VV-D-Vx({¥Vx§

[Prob. 3.89(b)}
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